den 5 mars 2021 15:14

QI
(/»(('L S(Q Jr o}ﬂ

oﬁ\DD 0'\‘1;
—_—

BLACR =S Ko lES
T (G¥ 4cT  Potuvedd
Nu;;immec BLACw~ SCH'O(“
T (RwewTe)

an
\A(t\X) = Xc -X

dxz 0.0
Sty = \ ©
seace (1000)

(reest
X n oo coM TARC
X Ste)> %)
~ t=T-t
-t
(C“CV\‘): U«-(’?:\N\
"Qb%[\__\__\

N~ ———

- - Y -t
PRCE of e e 4T tzo = ¢ (N ,505\: c  w(T, 5
/
\FTHE WAL R @ F Tug

Proiect Page 1



Tvecke 5 S(o0)

®Y THE TUT ¢ RparY

-~
C(T\Xw - ?('Z|x\ - x -e ne e
va/,/fa > Rlz,» ,\,)(,_ e ;v X - RE
T—C
x > %
2z
Wz,x)= € C(Z\X’) A x c“'t— '
x> e

S
ASEH) = 2SI « ¢S AW &)

(e

Proiect Page 2



